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BOTANY
( Regular Elective )

Answer the Questions from any one Option,
~ . OPTION-A
(Cell and Molecular Biology )
Paper : BOT-RE-5016 .

OPTION-B

( Economic Botany and Biotechnology )
Paper : BOT-RE-5026

OPTION-C
( Genetics and Plant Breeding )
.Paper : BOT-RE-5036

Full Marks : 60

Time : Three hours

The figures in the margin indicate
full marks for the questions,

Answer either in English or in Assamese,
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' OPTION-A

(Cell and Molecular Biology)

Answer the following questions :

@)

Paper : BOT-RE-5016

1x7=7

Which lens is used in phase contrast
microscopy ?

mmwﬁww— (PN A (191 2.

AR CES

()

(i)

(i)

Who proposed cell theory ?
PRE I iR wRfee

During ‘meiosis, when the mechanism

‘of crossing-over taking place ?

'ﬁ@ﬁzmﬁ@maﬁﬁrﬁ@mw—w

woR WAbe e

Who for the first time proposed the
‘Operon Model’ to explain the regulation
of gene action ?

o formt R oo ‘Operon Model’

| IR (I R S TR

3 (Sem-5/CBCS) BOT RE 1/2/3/G 2

)

vy

(vii)

Wnte the functlon of RNA polymerase.
RNA # ﬁm@ IR TG ﬁwn

Write . the smer_ltlflc name of the
organism, in which Griffith had
conducted his-
experiments.

@%@memﬁww
WW«WWMI '

transformation

Mentlon the dlfferent types of DNA
rephcatmn '

| DNAwﬁﬁwﬁsﬁS?

. Answer the following questions :

ool

K

| (%)

| 2x4=8
2PTIRI BT ot ¢

Write a very short note on
mitochondrial DNA.

TG’ FHGA DNA S50 5 Bt ey
What is the functiong of Lysosome ?

AR TR IR IGR
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(iii) Who invented. electron microscope ?
Write the names of two different

electron microscope.

Gﬁaemmaima¢§ﬂ“ﬁﬁW$““3€m%ﬁaaﬁﬁ%ﬁ
ﬁseﬁmﬁizﬂ¢§ﬂﬁvﬁﬁ$ﬁﬂ@‘mﬂﬁxﬁﬂﬁﬁ“

(iv) What is Genetic code ?
o ' A [e

Write short notes on any three of the

following : 5x3=15.
.vwmsﬁmrﬁ%ammvfﬁﬁﬁw'maﬁNF:EVm
(i) Fluorescence microscopy
I sy 7@
) Ultrastructure of chloroplast with
diagram
RIT 1o (fl\;g -\r,nﬁsq‘)

(i) Membrane protein and their funCtlons

o Gﬁ“ﬁqqem%wwm$vwaamqmﬁ%

(iv) Salient features of Watson and Crick.
model of DNA (Draw suitable diagram).

ﬂﬁﬁﬂ@W$ﬁﬁﬁ3@Wﬂ$mINmAﬁ9@$§T$
Eﬂﬁiﬁ@iﬁ#MIdﬁawm%w) |

(v) Different types . of RNA and their
- functions. | '

'ﬁﬁﬁiaﬁﬁﬁlumaEW$wms¢Rmﬁﬁl

Answer any three of the followmg
questions : : 10x3=30

. -?fsimﬁﬂaataQHQ§aﬁha%mﬁfﬁﬁ?aiﬁeaﬁ%m

()  With suitable, diagramdescribe the ‘Lac’

‘operon model for regulation of gene
action in prokaryotic cells.

AFRCTUR (IR cw@r‘ﬁéﬁkrﬁﬁwmaiﬁagq

fa%® Lac’ operon Wﬁam
il | a3t

(@) Describe the semi-conservative mode of
-~ DNA rephcatlon and mention the
various enzymes with their functions,

- required for replication process

7+3=10
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(i)

Describe the meiotic cell division of

- eukaryotic “cell and write the

(iv)

v)

significance. ~ 7+3=10

MR (@Fe @@ Ferfs @@y Rored
ﬂmaﬁwwﬁmzrﬁwm@w
W?ﬁﬁaﬂ

‘Explain the Hershey—Chase
‘bacteriophase expenment to show DNA

as the genetic material. (Draw diagram)
2+8=10

DNA (&b =it 3 emtie <R Hershey-

Chase¥ RIRSFeR @vigo =
I (f?m i) |

Describe the ultrastructure of
rhitochondria with the help of diagram.
Explain why mitochondria is called as
powerhouse of the cell ? 6+4=10

o SR SRR 13 3¢ <t | RS

- wRee ST I B ORI =
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(vl) What is cell membrane ? Mention the

various models of membrane
structures. Describe any one model of
membrane structure with diagram.

2+2+6=10
@R e [T ool @R 15 A
TER 9 T R o sion o i 3k
|
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OPTION-B

' (Economic Botany and Biotechnology )

- Paper : BOT-RE-5026

1. Answer any seven of the followmg.
1x7=7

questions :

; orioi ‘ ere
(@) Centers -of origin of crop plants W
_ first identified in the year .........ss .

(b) Cergal is also called ... ,
RIS X .....coveeee e ¥

(¢) Cereals are rich in .......eeeeer .

- 'What is GepBank ?
GenBank ﬁs? ‘

&) Pl form of PCR i ..vvrrrrviver e

. 3 (Sem-5/CBes) Boy ge 112306 8

2.

3 (Sem-5/CBCS)BOT RE 1/2/3/G O

() What is the scientific name of Indian ‘
Bay leaf?

CORPIre Tl A e

...............

(W) Who g:dined the term 'Biotechnology ?
TR 2/ (I I SRk e

() What is totipotericy ? |
Bt e

Answer the following questions : | _

2x4=8
O RIS B Bl -

(a) Callus

@R A [ 2

‘ (b) Molecular marker

R Bz
(é) Gene therapy
& Rt
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(d) Bioinformatics as interdisciplinary
science

AT TR AHEROTH ﬁWW

3. Answer any three of the following

questions : o o 5x3=135
oo et fofas onm B Bt e
A(a)' Molecular diagnosis of human diseeis§

T e RS Ref
(b) ELISA techﬁiqué
ot 1l
(c) Molecular phylogeny
TR I JET
(d) Cotton plant and cotton ﬁber
I AIZ T FoARE ST

(e) Hybridoma technology for production
of monoclonal antibody.

RO 2 e GG TeAw
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4. 'Answer any three of the following
questions : ' . 10x3=30

S Rt R e Baw B ¢

- {@) - What is tissue culture ? Write briefly

about the process and importance of
‘tissue culture. 2+8=10

TR Ror R oAafS I R g
REw ot

(b) Discuss briefly about the history and
scope of Biotechnology. - -

RS RII G oI ARera R 3ot 2

(0 What is data retrieval system ?
Explain the scope and branches of

bioinformatics. 3+7=10
O TR ~fafS 2 I R st e
RIPTRY /RE | .

d Explain the importance and use of
proteomics and .genomics in
improvement and drug discovery.

S+5=10
P SfeT W% 35y iR fomfiey wi
efbafiey Rerm o%g oiw ae T 3oy

Kl : '

Crop
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(e) Write brief procedure of tea preparation

and uses of tea. 6+4=10

'ﬁiae@sﬁﬁﬁ@weimaammﬁaﬁﬁmﬂﬁ*“'
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OPTION-C

( Genettcs and Plant Breedmg)

Paper : BOT-RE-5036

1. Answer the Ifollowing questions :

OIS SHEINE OeT A ¢

(@) Who is the father of genetics ?

1x7=7

awezrﬁﬁﬁ'ﬁﬂmaafﬁr'ﬁﬁrceﬁrzao

(b) Deﬁne allele.
< el R

'(c) Which one represents Mendel’s dihybrid

cross ? ' '
Cﬂt@m-ﬁ-ﬂ‘@? WFI’N‘ (PINH! ?
() 9:1:1:3 ‘
(i) 3:‘9:3:.1
(i) 9:3:3:1
(iv) 9:1:3:3

(d) Define linkage.
HEAereIR vicea fdl |

3 (Sem-5/CBCS) BOT RE 1/2/3/G 13

Contd.




iy
*

‘(e) At which stage crossing over takes -

place ?’

sfieaif effermt (D! WO =W ?

“: .f) Name the genes associated with

. Y-chromosome. -
Y-awerse oot fm QR & @
(g) Define Pleitropism.
PrEkiReR st @

, _8
Answer the following questions : 2x4

| | )
- (@) Whatis aneuploid ? What are its types

R e ez oo [ 62

() What is hybrid vigour ?
i & Ry

() erte Slgnlﬁcance of crossing over”

- Rl Uy
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(d) What is chromosome 'map or genetic
map ?.

FNE'TE NAba A FUE SR TNy B [Fe

Write short nofes on any three of the
following : ~ 5x3=15
oo fa ﬁmzar féﬁz?ra oY (Bt o ¢

(@) - Mechanism of crossmg -over
sliReaifes eiferar

(b)' Sex-linked genes
Fieol wffo fom

(c) Frame shift mutation A
9N FE BeotfRRS

(d) Cyfoplasmic inheritance -
(PN I

(e) Chi-square test
bR CHRIN (5

Answer any three of the following
questions : 10><3"30

(a) What is inversion ? Discuss 1ts types

-and effects. 2+2+6=10
TTORD 57 TSR I O eﬁa
A 1
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(b)

©
@

()
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Write an account on 1nbreed1ng
depression.

AT YN [RIw Remel v

Define epistasis. Dlscuss with suitable

example. ‘ - 2+8=10

«ﬂfﬁiﬁ%wwﬁm@ﬂg@@wqam
WWWI

Discuss the role of biotechnology in

crop improvement.

ﬁwﬁwm«wﬁ@@aﬁ@mw
SEST F| -

What are haploids? Discuss the .

characteristic features and production

of haploids. o 2+3+5=10
petel R mmhﬁ@]m@mﬁm |
TN 54 |
What is mu_tation ? Give anAaccou‘nt on
chemical mutagens. - 2+8=10
TesifRen 2 i @Q’lﬁﬁm R
SIS TR

-
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